(FH4FE FEOHMGERRESERE—E]

BX4 F i A T B fee 453 it
5 B AR 9H10H (SRR i B AR
KRR 11H26H KRRES AR L

12A3H,10H |&5Z% %k (N4 R oVl NN A PRV
BT 4 R A
3H4H BEDFELEDY BT 5 F SR

HH AR 12H3A TANYTHING OK ! 2022 Fih{ARBR# = B R
NS 11H5H HE O TS
T P 2EE 12H21RH BB OIFFEER (R:12/21, 53 :3/4) PSR S YR
HRE T AR 10A15H HIi 7 = 242022 Hh
HIK A 9H17H FHIK AR R ENAR & Ry 7 —) HIK PR
FrE B/ L
IR 2EAL 12H3H LA IREE P22
EEILES 12A3H B RIAYAVIRY;2022 BRI
EESAGC e 1 AR W TOMETEAAED Lmin LD A NS
i AL AA~11A @R DT R ONTE LD IS i A
IF] 55 224K 3A11H 1L HEDD Q1L
i AR AL 12A3H Sivdb\ar—h AV NG i
KB A 3HI11H D.4—Retry (¥ AFELE) PNEL Y
L S L L ) SRR
FITH A 2245 6H11H,11A5H [/hA G Eh A ER T P EEAR
[N R = 11H26H PEE BB (TR Fr—) P B A




